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Lesson #//2- Solving for the Measure of an Angle Algebraically

Essential Question: How can we use the properties of angles to solve for the measure of a
missing angle algebraically?

Do Now: Solve the following equations for x!
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Directions: Find the value of x algebraically
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. Then, identify the measure of the missing angle(s).
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Steps for solving for the value of a missing angle
algebraically:
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Directions: Using the properties of angles, solve for the value of x. Then, identify the measure of the
missing angle(s). .
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